


 

 

 

     

Q1.I am pleased to work with you because I have the same belief and I with your policy 

 matters. 

(a) accept       (b) confirm  

(c) agree       (d) confer 

Q2.The antonym of 'Parsimonious' is 

(a) generous       (b) selfish  

(c) religious       (d) hereditary 

Q3.The phrase "sore in the eye” means - 

(a) Someone harshly detested    (b) Someone never detested at all 

(c) A wound in the eye because of-shrapnel  (d) None of the above 

Q4.The antonym of 'Exonerate' is 

(a) reject       (b) contract  

(c) accuse      (d) admit 

Q5.Which of the following is not a synonym of 'plebiscite: 

(a) polling       (b) voting 

(c) referendum      (d) reference 

Q6.The passive voice of „Who has broken this jug?' is :  

(a) By who has broken the jug?     

(b) By whom has this jug been broken?  

(c) By whom was this jug been broken?    

(d) By whom has been this jug being broken? 

Q7.India's nuclear programme has……….. of age.  

(a) come       (b) appeared  

(c) matured      (d) advanced 

Q8. He prides himself…………..his business sense. 



 

 

 

     

 (a) by       (b) in 

(c) on       (d) with 

Q9.A person who eats too much is called as  

(a) Glution       (b) Nibbler  

(c) Cannibal       (d) Omnivore 

Q10.Choose the correct option : "The ability to share other's emotions' is 

(a) enrichment      (b) sympathy  

(c) empathy       (d) expatiate . 

Q11.Complete the following idiom : 'a rolling stone…………..  

(a) falls from height      (b) gathers no moss  

(c) comes to a stop      (d) encounters friction 

Q12.'Kangaroo Court means 

(a) a group of Kangaroos    (b) the young Kangaroo  

(c) unofficial Court      (d) unofficial estimate 

13. Only if business continues to expand can it………… enough new jobs to make up for those 

that will be…………….by automation.  

(a) produce, required      (b) invent, introduced  

(c) create, eliminated       (d) repeat, reduced 

Q14.New regulations have come into force regarding dangerous chemicals………….have been 

notified about this. 

(a) Companies Concern     (b) Concerned Companies  

(c) Concern Companies     (d) Companies Concerned 

Q15.The antonym of 'Fetter' is : 

(a) Liberate      (b) Diminish  

(c) Obstruct       (d) Heal 

Q16.You play the guitar, 



 

 

 

     

(a) do you?      (b) does he ? 

(c) don't you?       (d) isn‟t it? 

Q17.If I…………you, I would wait a while to begin investing. 

(a) was       (b) am  

(c) were       (d) would be 

Q18. He apologized………not being impartial………his client. 

(a) for; to       (b) to; for  

(c) to; in       (d) nor; for 

19. I seldom play cricket, 

(a) do I?      (b) don't I? 

(c) does I?      (d) haven't I? 

Q20.He was very simple and innocent; his behaviour was 

(a) childish      (b) child-like 

(c) proud      (d) humble 

Q21. Everyone should attend………….their duties sincerely. 

(a) on       (b) to 

(c) of       (d) with 

Q22.Choose the part which has an error:  

With each academic year / the number of applicants  

  (A)     (B) 

are increasing / in all Universities.  

(C)    (D)  

(a) (A)       (b) (B) 

(c) (C)       (d) (D) 

Q23.The antonym of 'Sceptical' is  



 

 

 

     

(a) Doubtful       (b) Convinced 

(c) Questioning      (d) Cynic 

Q24.The phrase „Ex officio' means 

(a) By virtue of previously held position  (b) Former official  

(c) By virtue of office     (d) Outside the office 

Q25.The antonym of 'Copious' is  

(a) imitable       (b) shortage  

(c) shaky       (d) unprecedented 

Q26.Which of these is NOT a synonym of 'illegible'? 

(a). Undecipherable      (b) Hieroglyphic  

(c) Hard to make out      (d) Illegitimate 

Q27.The antonym of 'disdain' is : 

(a) inappropriate      (b) disgust  

(c) anger       (d) admiration 

Q28. “To buckle down' means 

(a) Go for a vacation      (b) Drop a subject  

(c) Take it easy      (d) Work seriously 

Q29.In his lecture, Rohan…………….causes of the Gulf war. 

(a) dealt on the     (b) deal for the 

(c) dealt with the      (d) dealt of the 

Q30.Which of the following sentences is grammatically correct? 

(a) "What wonderful painting!” exclaimed Ravi.  

(b) The University awarded Mr. Murthy a honorary degree.  

(c) There is a dinner in his honour.  

(d) The season just before winter when trees shed their leaves is called an autumn. 



 

 

 

     

Q31.The antonym of 'Ostentatious' is 

(a) Nescient      (b) Awkward  

(c) Bankrupt       (d) Modest 

Q32.She asked us if we had anything to say. Change into direct narration. 

(a) She asked us, "What-did-we have to say?" 

(b) She said to us, "Have you anything to say?" 

(c) She asked: What have we to say?" 

(d) She said to us, “Do you have anything to say?" 

Q33.He said, "Good-bye, my friends!" Change into indirect narration.  

(a) He said to his friend good-bye     

(b) He bade good-bye to his friends.  

(c) He addressed his friends to bid good-bye . 

(d) He had addressed his friends to bid good-bye. 

Q34.The indirect speech of: He said to her, "she has to cook food for him”. 

(a) He told her that she has to cook food for him.  

(b) He told her that she had to cook food for him. 

(c) He told her that she needs to cook food for him.  

(d) He told her that she would have to cook food for him. 

Q35.Do you want _year-long programme? 

(a) a       (b) an  

(c) the        (d) no article needed 

Q36.Black absorbs heat…………..white reflects it. 

(a) unless       (b) in fact  

(c) but       (d) unlike 

Q37…………..his illness, Ravi continued to work, 



 

 

 

     

(a) Despite the fact      (b) Since  

(c) Inasmuch as      (d) In spite of 

Q38. He was astonished……………the sad news. 

(a) At        (b) In  

(c) With       (d) To 

Q39. If you had tried again you……………succeeded. 

(a) Will have       (b) Shall have  

(c) Would have      (d) Can have 

Q40. Michael Schumacher………………a record of seven Grand Prix titles. 

(a) set       (b) played 

(c) started      (d) starred 

Q41. Identify the odd word  

(a) Genius      (b) Geyser 

(c) Gesture      (d) Revenge 

Q42. What was the day on 315 October, 1990 ? 

(a) Friday       (b) Wednesday  

(c) Thursday       (d) Monday 

Q43. In the series8 6 1 1 2 6 7 4 2 2 5 3 7 5 1 2 4 1 5 2 4 1 5 3. How many pairs of successive 

numbers have a difference of 2 each? 

(a) Four       (b) Five  

(c) Six        (d) Seven 

Q44.Mayank is 15
th

 from the right end in a row of 50 boys. What is, his position from the left 

end ?  

(a) 31st       (b) 32nd  

(c) 33rd       (d) 36th 



 

 

 

     

Q45.Ayushi, Ishan, Shefali and Shaan are sitting on a bench. Shaan has Shefali next to her left. 

Ishan is sitting with Shaan and Ayushi on either side of her. Who sits at the extreme right? 

(a) Shefali       (b) Ayushi 

(c) Ishan       (d) Shaan 

Q46.Find the mean of the first five even numbers  

(a) 4       (b) 5 

(c) 6        (d) 7 

Q47.The ratio of incomes of two persons is 9:7. and the ratio of their expenditure is 4:3. If each 

of them manages to save Rs. 2000 per month. Find their monthly income.  

(a) 18000, 14000      (b) 27000, 21000  

(c) 9000, 7000      (d) 36000, 28000 

Q48.A motor bike travels 220 km in 5 litres of petrol. How much distance will it cover in 1.5 

litres of petrol?  

(a) 65 km       (b) 66 km  

(c) 67 km       (d) 68 km 

Q49.Marathon is to race as hibernation is to 

(a) Sleep       (b) Dream  

(c) Bear       (d) Winter 

Q50. Look at this series : 22, 21, 23, 22, 24, 23....... What number should come next?  

(a) 22        (b) 24  

(c) 26        (d) 25 

Q51.Synonym of 'Compassionate is 

(a) Crazy       (b) Merciful  

(c) Complex       (d) Hatred 

Q52.Find the antonym of the word 'Vertical 

(a) Parallel       (b) Horizontal  



 

 

 

     

(c) Vicious       (d) Seldom 

Q53.Find the meaning of the phrase 'To keep one's head above water': 

(a) To live within one's means    (b) To lose self control  

(c) To desire       (d) To take a bath in a river or a tank 

Q54.Government by the priests' is called 

(a) Aristocracy     (b) Anarchy  

(c) Monarchy       (d) Theocracy 

Q55.Select the most appropriate meaning of the given idiom / phrase, A man of straw 

(a) A worthy fellow      (b) a man of no substance  

(c) a very active man      (d) a selfish person 

Q56.A bag contains 50 Paise, 25 Paise and 10 Paise coins in the ratio 5:9:4, amounting to Rs. 

206. Find the number of coins of each type respectively.  

(a) 360, 160,200      (b) 160,360,200  

(c) 200, 360, 160      (d) 200, 160, 300 

Q57.Find the missing number in the series: 4,18,7, 100, 180, 294, 448  

(a) 48        (b) 50  

(c) 58        (d) 60 

Instructions for Q. 58 to 60:  

Use the information given in the statements below to answer the questions. 

(a)Eight people are sitting round a circular table facing the centre.  

(b)F is facing in between the North East and North West direction.  

(c)D is in middle of C and E and is facing H 

(d)F is to the just left of E and to just right of G. 

(e) The difference between A&C is equal to the difference between B & D. 

Q58.If D is made to sit facing North, then in which direction will the third person to his right will 

be facing. 



 

 

 

     

(a) North East       (b) South West 

(c) South East       (d) North West 

Q59.A & F have the same relation, as G has with : 

(a) E       (b) C 

(c) D       (d) H 

Q60.If person facing West and North interchange their positions, who will be facing West and in 

which direction, will the person just to his left face? 

(a) F, North West     (b) B, North East  

(c) B, North West      (d) None of these 

Q61.In the regions where farmers specialise in vegetables only, the farming is known as ' 

(a) truck farming     (b) viticulture 

(c) mixed farming     (d) collective farming 

Q62.Which continent has the highest crude death rate and birth rate? 

(a) Latin America     (b) Asia  

(c) Africa       (d) Europe 

Q63.Which article of the Constitution of India deals with Panchayati Raj? 

(a) 243       (b) 324  

(c) 350       (d) 356 

Q64.Trial without a jury is called  

(a) Arraignment      (b) Bench Trial  

(c) Jury Trial       (d) Appeal 

Q65. The first speaker of the Lok Sabha was : 

(a) M.A. Ayyangar     (b) G.V. Mavlankar 

(c) Neelatn Sanjiva Reddy    (d) Hukam Singh 

Q66. The frequency of which of the following is the highest? 



 

 

 

     

(a) Micro waves     (b) Radio waves 

(c) Gamma rays     (d) Light waves 

Q67. The annual Ramon Magsaysay award is given in the memory of the former President  

of: 

(a) Denmark      (b) France 

(c) Philippines.     (d) Switzerland 

Q68.Shaikh Nizamuddin Auliya belonged to the sufi order: 

(a) Chishti      (b) Suhrawardi 

(c) Qadri      (d) Auliya 

Q69.Who is the author of “God of small things” ?  

(a) Anita Desai      (b) Arundhati Roy  

(c) Amitav Ghosh      (d) Kiran Desai 

Q70.Raja Ram Mohan Röy founded: 

(a) Arya Samaj      (b) Dharma Samaj  

(c) Veda Samaj      (d) Brahmo Samaj 

Q71. Which constitutional amendment provided constitutional status to National Commission for 

Scheduled Castes and Tribes? 

(a) 42nd       (b) 44th  

(c) 65th      (d) 74th 

Q72.Which of the following committee recommended for Panchayat System in India? 

(a) Punchi Committee     (b) Balwantrai Mehta Committee 

(c) Sarkaria Committee     (d) None of the above 

Q73.Which article of the Indian Constitution recognizes Hindi as the official language of the 

central government of India?  

(a) 346       (b) 350  

(c) 350-A       (d) 350-B 



 

 

 

     

Q74.When is the 'International Labour Day' observed? 

(a) March 8       (b) February 14  

(c) May 1       (d) October 12 

Q75.What was the old name of Ethiopia?  

(a) Gold Coast      (b) Abyssinia  

(c) Ceylon       (d) Rhodesia 

Q76.The first education policy formulated in 1968 was based on the suggestions of :  

(a) D.S. Kothari Commission    (b) Yashpal Committee  

(c) Dr. S. Radhakrishnan Commission   (d) Mudaliyar Commission 

Q77.In which of the following countries G-7 Summit was held in the last week of August, 2019? 

(a) France       (b) Germany  

(c) USA       (d) Russia 

Q78.Which of the following Indian states declared 2020 as the year of 'Artificial Intelligence ? 

(a) Maharashtra      (b) Telangana  

(c) Gujarat       (d) W. Bengal 

Q79.The Integrated Rural Development Programme (HRDP) is related to: 

(a) Development of Women and Children  (b) Unemployment expenses  

(c) Development of Villages      (d) Development of Urban Areas 

Q80.'Nirvik'scheme of the Government of India is related to 

(a) loan facility to facilitate export    (b) water conservation  

(c) learning programme     (d) one nation one ration card 

Q81.You should not……….your spirit.  

(a) loose       (b) lose  

(c) lost       (d) last 

Q82.Which of the following is not a rocket used for placing satellite in space? 



 

 

 

     

(a) Vostok       (b) GSAT  

(c) Ariane       (d) PSLV 

Q83.The symbol for element „Tin' in Chemistry is : 

(a) Sb        (b) Sg 

(c) Sn       (d) Sr 

Q84.Maximum population of microorganisms found in soils is of: 

(a) Fungi      (b) Bacteria 

(c) Actinomycetes      (d) Protozoa 

Q85.The highest legal officer of the Government of India is:  

(a) Chief Justice of India     (b) Attorney General  

(c) Solicitor General      (d) Secretary, Ministry of Law & Justice 

Q86.Which schedule of the Constitution of India deals with languages?  

(a) Vth       (b) VIth  

(c) VIIth       (d) VIIIth 

Q87.An out-of-court proceeding in which parties submit a dispute to a neutral person for 

resolution is called 

(a) Jury Trial       (b) Arbitration  

(c) Arbitration Brief     (d) Conclusion 

Q88.In the Indian polity, ultimate sovereignty rests with 

(a) Parliament      (b) The Constitution  

(c) The President      (d) The People 

Q89.Right to privacy under the Constitution is a  

(a) fundamental rights     (b) Statutory right  

(c) Only Constitutional right     (d) All the above 

Q90.Who has been appointed as India's first Chief of Defence Staff? 



 

 

 

     

(a) Gèn. Vikram Singh     (b) Gen. Bipin Rawat  

(c) Adm. Karambir Singh     (d) AOC. B.S. Dhanoa 

Q91.Who is the first Indian writer in English to have been chosen for the Jnanpith Award?  

(a) Vikram Seth      (b) Anita Desai  

(c) Vikrani Chandra      (d) Amitav Ghosh 

Q92.Ratio decidendi means 

(a) A judicial decision 

(b) Part of the judgment which possesses authority  

(c) Any observation made by the court which goes beyond the requirement 

(d) An observation made by the judge 

Q93.Crimes usually involving cunning and deceit rather than physical force is called : 

(a) White collar Crimes     (b) Blue-collar Crimes  

(c) Misdemeanours      (d) Embezzlements 

Q94.'Audi Alteram partem' relates to 

(a) Criminal justice system     (b) Rule of evidence  

(c) Rule of natural justice     (d) Canons of civil litigation 

Q95.Partition of Bengal was cancelled in:  

(a) 1905       (b) 1906  

(c) 1911      (d) 1916 

Q96.Hayat-i Javed is a biography of:  

(a) Altaf-Hussain Hali     (b) Mohsin-ul Mulk  

(c) Sir Syed Ahmad Khan     (d) Viqar-ul Mulk 

Q97. In March,-1942, the British Government sent a mission to India known as : 

(a) Cripps Mission     (b) Cabinet Mission 

(c) Simon Commission    (d) Parliament Mission. 



 

 

 

     

Q98.Sir Thomas Roe visited the Mughal Court during the reign of: 

(a) Akbar       (b) Jahangir 

(c) Aurangzeb      (d) Bahadur Shah 

Q99. What is the full form of GPS ? 

(a) Global Path System    (b) Global Positioning System 

(c) General Path Service    (d) Global People Service 

100. The tomb of Itimaduddaula at Agra was built during the reign of: 

(a) Humayun      (b) Akbar 

(c) Jahangir      (d) Shah Jahan 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 




